
Errata corrige 
 
 
- pagina 11, dopo la formula (1.5):   

 

𝑓 𝑟, 𝑧 =
𝑟!

𝑎!
+
𝑧!

𝑏!
= 1 

 
	
	

-	pagina	13:		 	 	

𝑥 = ! !"#! !"#!
!!!! !"#!!

𝑦 = ! !"#! !"# !
!!!! !"#!!

𝑧 = ! !!!! !"#!
!!!! !"#!!

	

	
	
	

-	pagina	14:		 	

𝑥 = !
!!!! !"#!!

+ ℎ cos𝜑 cos 𝜆

𝑦 = !
!!!! !"#!!

+ ℎ cos𝜑 sin 𝜆

𝑧 = ! !!!!

!!!! !"#!!
+ ℎ sin𝜑

	

	
	
	

-	pagina	17:	 	
𝑟(𝜑) = ! !"#!

!!!! !"#!!

𝑧(𝜑) = ! (!!!!)!"#!
!!!! !"#!!

	

	
	
	
-	pagina	17:	
	

𝑑𝑟 =
𝑑𝑟
𝑑𝜑

𝑑𝜑 =	

=
−𝑎 sin𝜑 1 − 𝑒! sin! 𝜑 !

! − 𝑎 12 cos𝜑 1 − 𝑒! sin! 𝜑 !! ! −2𝑒! sin𝜑 cos𝜑
1 − 𝑒! sin! 𝜑

𝑑𝜑 =	

=
−𝑎 sin𝜑 1 − 𝑒! sin! 𝜑 + 𝑎𝑒! sin𝜑 cos! 𝜑

1 − 𝑒! sin! 𝜑 !
!

𝑑𝜑 =
𝑎 sin𝜑 −1 + 𝑒! sin! 𝜑 + 𝑒! cos! 𝜑

1 − 𝑒! sin! 𝜑 !
!

𝑑𝜑	

	
	
	
-	pagina	24,	formula	(1.11):	 	
	

λP = λ0 +
s senα0

N (ϕ0 )cosϕ0
+
s2senα0 cosα0senϕ0
N 2 (ϕo )cosϕ0

αP =α0 + (λP −λ0 )senϕm

	

	
	



-	pagina	40,	formula	(1.13):		 	 𝛿𝐻!!
!!! ≠ 𝐻!	

	
	
-	pagina	49:	 	 	 	 𝑋!  = 𝑋!  +  𝑅!  𝑋!	
	
	

-	pagina	57:	 	 	 	 h = R+Dcos z +350( )
2
+ Dsenz( )

2
− R = 500.202m 	

	
	

-	pagina	69:		 	 	 	 Se	 Δ > 𝜆 𝑛𝜎! ⟹	non	si	accettano	le	misure	𝛼!!	

	
	

-	pagina	72:	 	 	 	
!"
!"#!

= !"
!"# !! !!!

= !"
!"# !!!

	

	
	

-	pagina	74,	formula	(2.9):	 	 𝑦! =
(!!!!!)!!! !"!!"!!! !"!!"

!"!!"!!"!!"
	

	
	

-	pagina	93,	formula	(2.21):	 	 Δℎ!" = 𝑆 1 + !!
!

tg !!!!!
!

=	

= 𝑆 1 +
ℎ!
𝑅

tg
𝛿 − 𝑍! + 𝜋 − 𝑍!

2
=	

= 𝑆 1 +
ℎ!
𝑅

tg
𝜋
2
− 𝑍! +

𝛿
2

=	

= 𝑆 1 +
ℎ!
𝑅

tg
𝜋
2
− 𝑍! −

𝛿
2

=	

= 𝑆 1 +
ℎ!
𝑅

cotg 𝑍! −
𝛿
2

=	
	
	
-	pagina	95,	formula	(2.23):	
	

Δℎ!" = 𝑆 1 +
ℎ!
𝑅

cotg 𝑍!! + 𝜀! −
𝑆
2𝑅

=	

= 𝑆 1 +
ℎ!
𝑅

cotg 𝑍!! + 𝜅!
𝛿
2

 −
𝑆
2𝑅

=	

= 𝑆 1 +
ℎ!
𝑅

cotg 𝑍!! + 𝜅!
𝑆
2𝑅

 −
𝑆
2𝑅

=	

= 𝑆 1 +
ℎ!
𝑅

cotg 𝑍!! −
1 − 𝜅!
2𝑅

𝑆 	

	
	
	
	

-	pagina	114,	formula	(3.5):	 	 pR
S (t) = c ⋅ ΔtR(t) = dR

S (t)+ c ⋅ δt S (t)−δtR(t)( ) 	
	
	



-	pagina	116,	formula	(3.8):	 	 	
ϕR
S (t) = fi

c
⋅dR

S (t)+ fi ⋅ δt
S (t)−δtR(t)( )− NRS (t0 ) 	

	
	
-	pagina	130,	formula	(3.17):		

Δ '''ϕ jk
in (t12 ) = Δ ''ϕ jk

in (t2 )−Δ ''ϕ jk
in (t1) =

f
c
⋅ d j

i − d j
n − dk

i + dk
n( )
t2
− d j

i − dk
i − d j

n + dk
n( )
t1

⎡
⎣⎢

⎤
⎦⎥
+

+
f
c
⋅ Δ '''dρ +Δ '''dion +Δ '''dtro +Δ '''dε( )− N j

i − N j
n − Nk

i + Nk
n( )
t2
+ N j

i − N j
n − Nk

i + Nk
n( )
t1

	

	
	
-	pagina	165:	

tgδ = tg( ʹα −α) = tg ʹα − tgα
1+ tg ʹα tgα

=
e*g* − ( f *)2 tgα

e* + f *tgα
− tgα

1+ e*g* − ( f *)2 tgα
e* + f *tgα

tgα
=

e*g* − ( f *)2 − (e* + f *tgα)⎡
⎣⎢

⎤
⎦⎥
tgα

e*g* − ( f *)2 tg 2α + (e* + f *tgα)
	

	
	
	

-	pagina	165,	formula	(4.12):	 	 δ = arctg
e*g* − ( f *)2 − (e* + f *tgα)⎡

⎣⎢
⎤
⎦⎥
tgα

e*g* − ( f *)2 tg 2α + (e* + f *tgα)

⎧

⎨
⎪

⎩
⎪

⎫

⎬
⎪

⎭
⎪ 	

	
	
-	pagina	177:	
	

∂x
∂λ

⎛

⎝
⎜

⎞

⎠
⎟

2

= N 2 cos2ϕ 1+ λ
2

2
cos2ϕ 1− t2 +η2( )

⎡

⎣
⎢

⎤

⎦
⎥

2

= N 2 cos2ϕ 1+ λ
4

4
cos4ϕ 1− t2 +η2( )

2
+λ 2 cos2ϕ 1− t2 +η2( )

⎡

⎣
⎢

⎤

⎦
⎥≅

≅ N 2 cos2ϕ 1+λ 2 cos2ϕ cos2ϕ − sen2ϕ
cos2ϕ

+η2
⎛

⎝
⎜

⎞

⎠
⎟

⎡

⎣
⎢
⎢

⎤

⎦
⎥
⎥
= N 2 cos2ϕ 1+λ 2 cos2ϕ −λ 2sen2ϕ +λ 2η2 cos2ϕ⎡

⎣
⎤
⎦

	
	
-	pagina	177:	
	

m2 = 1
r2
N 2 cos2ϕ 1+λ 2 cos2ϕ −λ 2sen2ϕ +λ 2η2 cos2ϕ( )+λ 2N 2sen2ϕ cos2ϕ⎡
⎣

⎤
⎦=

=
1

N 2 cos2ϕ
N 2 cos2ϕ 1+λ 2 cos2ϕ −λ 2sen2ϕ +λ 2sen2ϕ +λ 2η2 cos2ϕ⎡

⎣
⎤
⎦=

=1+λ 2 cos2ϕ(1+η2 )

	

	
	

-	pagina	193:		 	 ml
2 =

1
r2

∂x
∂λ

⎛

⎝
⎜

⎞

⎠
⎟

2

+
∂y
∂λ

⎛

⎝
⎜

⎞

⎠
⎟

2⎡

⎣

⎢
⎢

⎤

⎦

⎥
⎥
≅

4
cos2ϕ

tg 2 π
4
−
ϕ
2

⎛

⎝
⎜

⎞

⎠
⎟⇒ ml = 2

1+ tg 2 ϕ
2

(1+ tgϕ
2
)2
	

	



-	pagina	232,	formula	(5.33):	 	 M αg1 x( )+βg2 x( )⎡
⎣

⎤
⎦=αM g1 x( )⎡

⎣
⎤
⎦+βM g2 x( )⎡

⎣
⎤
⎦  

 
	

-	pagina	239,	formula	(5.53):	 	 P X = xi |Y = y j⎡⎣ ⎤⎦=
pij
q j

= pi; j 	

 
 

- pagina 240, formula (5.54):  P Y = y j | X = xi⎡⎣ ⎤⎦=
pij
pi
= qj;i  

 
 
- pagina 244, formula (5.74):  pij = piqj ∀ i, j  
 
 

- pagina 249, formula (5.98):  fX1 X2 ...Xn x1 x2…xn( ) =
fX x1,…, xn( )

fX2…Xn x2,…, xn( )
 

 

 

- pagina 292, formula (6.37):  

 

σ 2 (S 2 ) = 1
n
µ4 −

n−3
n−1

σ 4⎛

⎝
⎜

⎞

⎠
⎟ n >1

 
 

 

- pagina 308, formula (6.101): 

 

α̂ ' =α0 −Q 'B
t BQ 'Bt( )

−1
Δ =α0 −γQB

t BγQBt( )
−1
Δ =

=α0 −γQB
t 1
γ
BQBt( )

−1
Δ =α0 −QB

t BQBt( )
−1
Δ = α̂  

 

 

- pagina 308, formula (6.102): 

 

- 

M α̂[ ] =M α0[ ]−QBt BQBt( )
−1
M Δ[ ] = µα

  

- pagina 333, formula (6.192): 

 

- 

x̂ − x( )t Cx̂x̂
−1 x̂ − x( ) = 1

σ 0
2 x̂ − x( )t AtK −1A( ) x̂ − x( ) = χn

2

 



- pagina 333, formula (6.193): 
 

x̂ − x( )t AtK −1A( ) x̂ − x( )
nσ̂ 0

2 =

x̂ − x( )t AtK −1A( ) x̂ − x( )
nσ 0

2

σ̂ 0
2

σ 0
2

=

χn
2

n
χ m−n( )
2

m− n

= Fn,m−n  

 
 

- pagina 334, formula (6.197): 
 

x̂1 − x1 x̂2 − x2⎡⎣ ⎤⎦
σ̂1
2 σ̂12

σ̂12 σ̂ 2
2

⎡

⎣

⎢
⎢

⎤

⎦

⎥
⎥

−1

x̂1 − x1
x̂2 − x2

⎡

⎣

⎢
⎢

⎤

⎦

⎥
⎥
= cos t.=C  

 
 

- pagina 334, formula (6.198): 
 

1
1− ρ12

2

x̂1 − x1
σ̂1

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟

2

− 2ρ12
x̂1 − x1
σ̂1

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
x̂2 − x2
σ̂ 2

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟+

x̂2 − x2
σ̂ 2

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟

2⎡

⎣

⎢
⎢

⎤

⎦

⎥
⎥
=C

 

 

 

- pagina 334, testo dopo la (6.198): 

 

con  ρ12 =
σ̂12
σ̂1 σ̂ 2

 e   C = 2 F2,m−2
α . 

 
 
- pagina 334, formula (6.199):   

 

tan2ω =
2σ̂12

σ̂1
2 − σ̂ 2

2
 

 
 
- pagina 335, formula (6.200): 
 

a2 = C
2
σ̂1
2 + σ̂ 2

2( )+C2 σ̂1
2 − σ̂ 2

2( )
2
+ 4σ̂12

2  

 

b2 = C
2
σ̂1
2 + σ̂ 2

2( )−C2 σ̂1
2 − σ̂ 2

2( )
2
+ 4σ̂12

2  

	


